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Q1

Q2

\M\
DIAGRAM Q1

(a) Find the midpoint of the straight line with endpoints (-3, 5) and (8, -1)

(4 marks)
(b) Find the length of the straight line in DIAGRAM Q1

(6 marks)
(¢) Find the slope of the line in DIAGRAM Q1

(4 marks)
(d) Find the equation of the straight line in DIAGRAM Q1

(6 marks)
(a) Using the method of factorization, solve the following quadratic equations

9x* -5=12x-5

(4 marks)
(b) Sketch the graph of quadratic equation for 2x* +4x+2=0

(6 marks)
(c) Solve the quadratic equation x> — 12x = 28

(4 marks)
(d) Sketch the graph of quadratic equation for y =-x* —2x+38

(6 marks)
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Q3  (a) Solve each of the following inequalities —3x+5<-16

(2 marks)
(b) Solve —2x <3(x—5) and graph the solution
(3 marks)
(c) Solve |-3x—1| > 5and graph the solution
(4 marks)
(d) If O(-3,—4) be a point on the terminal side of an angle &, find the value
of the following without using calculator
4
i) sind =——
@ 5
3
ii) cos@ =——
(ii) -
(iii)tan @ = g
(6 marks)
(e) Prove that fanla)-1_ tan(x)
1 - cot(x)
(5 marks)
o (a) Express —f—)—c—i in partial fractions
Xt +x-
(5 marks)
(b) Express ﬁ}_ in partial fractions
x*+x—
(5 marks)
1 2 3
(c) Find the inverse of the matrixG=(2 5 3
1 0 8
(5 marks)
(d) Use Gaussian elimination method to solve the system of linear equations
3x+4y+z=-6
2x—y+z2=~5
x+3y—2=9
(5 marks)
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Q5 (a) Convert the z = —4 + 3i in the Euler form

(4 marks)
(b) GivenZ1=5-3iand Z2 = 7 + 2i, find
M2
(ii) 2,1 Z,
(4 marks)
(c)Ifu=i+S5j—kandv=1i+7k, find
(@) [u+v]
(ii) [ul + |v]
(6 marks)
(d) Given a =-3i+ 3k, b=i-2j + 3k and ¢ = -3j + 5K, find the value of
(i) a.(bxc)
(if) 4
(6 marks)
-END OF QUESTIONS-
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d =~J(x:-x)" + (= p)°

(;,;)z (xl '*2'x2 ) N ;yzj

. —b++b*—4ac
2a
sin’@+cos’ =1

tan’0+1=sec* @
cot’0+1=csc* @

sin2a =2sina cosa

cos2a =cos’ @ —sin’ &

AU:(_I)HjM
r=4x2+y2

1 Y
8 =tan (=

o ()
- 1rd -b
ATt =—

|A|t—c a]
i*=—1or
i=v—1

z™ = r™[cos(n@) + i sin(n6)]

|V| = ‘\/Vl2 + sz + V32

a

a=—

lal

slope = u,x2 #X
X, =%
y=mx+c

y—yi=m(x—Xx)

sin(a + ) =sina cos ftcosasin S
cos(a £ ff)=cosacos fFsinasin S

tana +tan S
+ ="
R 1Ftana tan f
tan2a =222 g4 = g14=1
1-tan“ @
xl:|Dx,|'xz:|Du|' x3_|D,;|
D D] D]

Q33 Qi3 A3z laig Qi3 -l
€33l Q33 Q32 Q22 GQa3l
azil Qi1 313| lais Qi1 |
2551 Az dgzg Qzz Q21 ‘
azzl 287 aul 2581 aizl 1
azl lasgz aszl lag agzl

e? =cos@+isinf

3=

1 6 +360°%k\ (6 +360°
S [c"s (—n“*) i (—n—)]

cosf = Lb
)

z=r(cos8 +isinf) = rcisf
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